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( Matrices )
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I o can be reduced to the form
[ 0 0] by using elementary operations,
then rank of Ais
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(Choose the correct option)
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Find the rank of the following matrix by
reducing it to échelon form : :

2 3 -1 -1

1 -1 2 -4

31 3 -2

6 3 0 -7
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Find two non-singular matrices Pand Q such
that PAQ is in normal form, where
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A=[1 2 3
0 -1 -1
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Show that the following equg.tions are
consistent and find their solutions :
ox-y+3z=9
x+y+z=6
x-y+z=2
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Find the characteristic roots and

corresponding characteristic vectors of
the following matrix :
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Removing the first-order derivative, solve
the following equation :
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where P, Q and R are the functions of x.
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If y = x is a particular solution of
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find its general solution-
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Solve by changing _the indep
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Using Newton-Raphson rhethod, find
a real root of the following equation

correct to three places of decimal :

x2-14=0

e real root of the following
regula-falsi method, correct
es of decimal :

Find th
equation by
to three plac

x3-x2-2=0
-GG TR TR
Solve by Gauss-Jordan method :

10x +y+3z=14
x+20y+92=—23
.ox-Ty-202= =57
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Define interpolation.

( Turn over)



( 10 )

(o) ma®f

10. (a_)

usin the
8 Lagrangg,. e of o

ge’s interp 8103235 by
P7/48g TPolation formula.

I
( Continued} | —3000+1800/480 2 SEM

(11)

(b) Sregra SRR GRS TSCo!
GICHERRAI

Derive trapeéoidal rule for numerical
integration.
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10 dx .
Find the value of |, Trx by using

Simpson’s $rd rule.
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